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HE: soAMe s
Ol SQIASANY U SAYLE FX (9l &2
_ _ _ Muo
SNBSS - MRAY - BHES 0 & o4 e HIRZE2
= 140,000
= 18,000
308 XHXISHH SO & 158,000 69,520 83,480
= 140,000
= 18,000
01 MXSHBABES 158,000 69,520 83,480
Osarel QIER AP 6,000,000 «25% +79% 118,500
=2 105,000
= 13,500
O MER AP 5,000,000 102 +79% 39,500
= 35,000
= 4,500
=00l NEEH 490,000 515,000 25,000
= 55,000
= 435,000
307 QI2H0IH 490,000 515,000 £.25,000
= 55,000
= 435,000
05 DIZHSIES 490,000 515,000 25,000
OZ=e AYo DS 550,0002 *200% 110,000
= 55,000
= 55,000
O DSAHAT BE 2,500,002 1902 +80% 380,000
ST YALYNR 896,000 716,800 79,200
=2 800,000
= 96,000
308 XHXIEHHI SO & 896,000 716,800 79,200
= 800,000
= 9,000
01 RASHBABEZ 896,000 716,800 179,200
OSAFLALLTE  8,000,0002 2002 *56% 896,000
= 800,000
= 9,000
SR 68,510 57,850 10,660
= 52,700
= 15,810
308 XHXICHHI SO & 68,510 57,850 10,660
= 52,700
= 15,810
01 RXSHBABES 68,510 57,850 10,660
Osglol B3t s 105,400, 0002 *65% 68,510
= 52,700
= 15,810
YROIYSHIX 9,687,600 9,687,600 0
= 7,452,000
= 2,235,600
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308 XHXIEHH SO & 9,687,600 9,687,600 0
= 7,452,000
= 2,235,600
01 RXSHBABES 9,687,600 9,687,600 0
OYS0ISFHIKA 1,656,000 9, 0002 *65% 9,687,600
= 7,452,000
= 2,235,600
=Q0I0I A1 2 1,100,000 1,152,000 52,000
=2 660,000
= 440,000
307 2120l H 1,100,000 0 1,100,000
= 660,000
= 440,000
02 QIAAMBE 1,100,000 0 1,100,000
O=00IAE S 2 1,100,000
= 660,000
= 440,000
SHESLS™PN F2X 511,114 506,925 4,189
308 XHXISHH SO & 511,114 506,925 4,189
01 MXSHBABES 511,114 506,925 4,189
OB 202 25 KR
6, 70024 *12, 5805 122 *30% 303,430
OSERS4M2 2= N
6,00021+9, 6155 + 122 +30% 207,684
ool =X &N X 7,767,695 6,915,667 852,028
2 18,176
= 7,749,519
308 X+XIEHHIS O & 7,767,695 6,915,667 852,028
2 18,176
= 7,749,519
01 MXSHHZAHSES 7,696,208 6,844,180 852,008
OstmZAABY N 5,562,028
0=tz 20 X 103,950
OsARE SN2 N 2,030,230
06 DEIIBUHSSEZ 71,487 71,487 0
ONY =] ZAH N 71,487
s 18,176
= 53,311
SQQIEHH F4 447,300 797,000 349,700
307 212+0IH 417,300 297,000 120,300
02 QIRAMBE 417,300 297,000 120,300
OsEtH X 217,300
ORl128 ®= 5 200,000




SN SAEHY
HE: soAMe s
Ol SQIASANY U SAYLE FX (Sl &2)
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308 XHXIEHH SO & 15,000 0 15,000
01 MXSHBABES 15,000 0 15,000
Osgzyel 18 15,000
403 RHXISHH SX20|H 15,000 500,000 485,000
01 MXSHAXZSE 15,000 500,000 485,000
OLM=AAYS 2 55 15,000
SN AME T4 72,800 67,800 5,000
307 212+0IH 35,000 30,000 5,000
02 PIABAEE 35,000 30,000 5,000
OsALNAME X2 35,000
308 XHXICHH SO & 37,800 37,800 0
01 MXSHBABES 37,800 37,800 0
OO E =X AME X2 37,800
SEXE oZe 2F 25,106,600 21,542,992 3,563,608
= 1,040,000
=l 20,960,000
= 3, 106,600
=MsEHH0SEY 1,950,000 1,690,000 260,000
=l 1,500,000
= 450,000
403 RHXISHH SX20|H 1,950,000 1,690,000 260,000
3 1,500,000
= 450,000
01 RXSAXZSE 1,950,000 1,690,000 260,000
O=M=sE MBS TLAY N
200,000, 0002 *157H 2 *65% 1,950,000
=l 1,500,000
= 450,000
CERRHs N 1,028,400 233,492 794,908
= 900,000
= 128,400
308 XHXISHH SO & 508,400 233,492 274,908
= 400,000
= 108,400
01 MXSHBABES 508,400 233,492 274,908
OsEHEIS NPT
14,400, 00021 50 *62% 446,400
= 360,000
= 86,400
Os&=X N 40,000, 0002 x27H A #65% 52,000
=2 40,000
= 2,000
OSEHENE S50F X 10,000




SN SEMY
B S U
ool sENY oTe 1E (el a2
SN (B) - MBEAY - B2 0 aF 0l S HRZS2
403 MXISHHSA20H 520,000 0 520,000
= 500,000
& 20,000
01 AXIESHMAZ2EE 520,000 0 520,000
Oul 23382t xS 500,000
= 500,000
Os=22LA =IOl MEHOIAL X 20,000
NASFESAHAAUYS 182,000 895,000 A713,000
= 140,000
& 42,000
308 XXIEXHSOI& 182,000 895,000 713,000
= 140,000
= 42,000
01 IXSHHIMNEEZ 182,000 895,000 A713,000
OXNEeESAAAUNS
56,000, 0003 *5H A~ *65% 182,000
= 140,000
& 42,000
SH=E IJI3Ng §4 305,000 578,000 A 273,000
308 ArXIEHHMISOIA 50,000 0 50,000
01 MXSHHENEET= 50,000 0 50,000
OJISAE N 50,000
403 KHXIEHMIS K201 255,000 578,000 A 323,000
01 MRISHX2E=X 255,000 578,000 323,000
OsttE2 JItSAlE st 255,000
MEATAX S 11,900,000 11,900,000 0
= 11,900,000
308 XXX SO0I& 9,569,000 8,729,000 840,000
2 9,569,000
01 AXEMINMNEEZ 9,569,000 8,729,000 840,000
OasEgsExE XH 9,569,000
= 9,569,000
403 KHXIEHMS X201 2,331,000 3,171,000 840,000
= 2,331,000
01 AIXSHHMAZ2EE 2,331,000 3,171,000 840,000
oxgzExeE & 2,331,000
= 2,331,000
SFEMAHEY 4,764,000 1,962,000 2,802,000
= 3,859,000
= 905,000
201 dEt2ad| 15,000 0 15,000
= 15,000
01 At Zeltl 15,000 0 15,000
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B9l SEXE Qe BE (29 @2
SN B SR(BH) - NRAY - BLS Ofl - o8 e bl m &2
OAtR 22|l 15,000
= 15,000
202 04 5,000 0 5,000
& 5,000
01 =LA 5,000 0 5,000
O=U0tl 5,000
& 5,000
308 NMXIEHHMSO0IH 2,715,600 1,056,000 1,659,600
& 2,190,000
s 525,600
01 HAHHBLEXS 2,715,600 1,056,000 1,659,600
OBELY B4 2,715,600
= 2,190,000
< 525,600
403 A EHSAH=0lH 2,028,400 906,000 1,122,400
= 1,649,000
= 379,400
01 MXEMAZ2EX 2,028,400 906,000 1,122,400
OgELaY 54 2,028,400
& 1,649,000
s 379,400
SS=5d 337,200 1,167,500 A830,300
= 281,000
< 56,200
403 XX EHSAH=0lE 337,200 1,167,500 A830,300
= 281,000
= 56,200
01 MXEMAZ2E X 337,200 1,167,500 830,300
Os3E2 84 337,200
& 281,000
S 56,200
ZA(NAsd)2HAEHSY 4,640,000 3,117,000 1,523,000
= 3,420,000
< 1,220,000
201 et 15,000 0 15,000
= 15,000
01 AtR2teldl 15,000 0 15,000
OAtR 22|l 15,000
= 15,000
202 04 5,000 0 5,000
= 5,000
01 =LHOHI 5,000 0 5,000
O=U0t 5,000
& 5,000




SN SAEHY
HE: sAAWA Y
o9l SEXE oTet 1E (el &
_ _ _ Muo
SN EB - SA(SH) - MBAY - BES 0 & 24 e timE=El
308 XHXIEHH SO & 1,090,000 946,000 144,000
2 800,000
= 290,000
01 RXSHBABES 1,090,000 946,000 144,000
OXNASHIHAE S 1,100,000,0002 *65% 715,000
z 550,000
= 165,000
OBAZ2AH S4 375,000
z 250,000
= 125,000
403 KHXIEHHIS KH2 0l 3,530,000 2,171,000 1,359,000
z 2,600,000
= 930,000
01 XXISAXEEE 3,530,000 2,171,000 1,359,000
OXNA=2YAH B4 2,405,000
z 1,850,000
= 555,000
OZAIHAH S4 1,125,000
z 750,000
= 375,000
SNSRSTENM 4,199,700 2,825,750 1,373,950
2 544,000
z 1,562,000
= 2,093,700
SUHSUTRSHE XX 1,913,000 1,719,000 194,000
z 1,562,000
= 351,000
403 RHEISHH S R20|H 1,913,000 1,719,000 194,000
z 1,562,000
= 351,000
01 RXISHIZEE 1,913,000 1,719,000 194,000
OSMSMNRSHEH LXK 1,913,000
2 1,562,000
= 351,000
SUHSREALH SN 700,000 458,750 241,250
403 XX EHHIS XH2 0l ® 700,000 458,750 241,250
01 RXSHAZLE 700,000 458,750 241,250
OsM2 RENE SHUEAL X 700,000
sSSM2 B8 2 BAHY Y 551,700 408,000 143,700
201 Lty 45,000 40,000 5,000
01 AR 2IY] 45,000 40,000 5,000
Osstg 22 2 2 £ 40,000
OSM2 0IHEXAIAY ATE O 5,000
307 BI2HOI 315,000 290,000 25,000
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